A 8A])

TH

=0

oy

(*}

~ 60

15

12
10

, 20
, 20

(1)



(2)

30
a.
200%
b. ‘@ (
3 ) 3
c ‘a
3)
5 60 10
120 (
) [
5 10
(60 120 )



) (4)

(4)

1,000



1.0%

10.

)]



( )
( )
@)
12 5
20 5 10
10 5
20 5 10
2 1

@) ‘@ @2y 1



(4) '3y

‘6.
)

() ‘(@ @

- KOSPI200

- S&P500

@)

0%



Fola(%)

(%) =

%1—

)

(

1= 1000 % )y, H a9 %(c.-rm}},ém—?ﬂ %(ﬁum-}]

A

N

)l

(

(cap) :

10

(floor) :

10

10

) @y

(Notional)

_1]

X




©)

10.
( 1.0%, 1.5%)
4)
1)
1
)



=) =]
g AEy = TR ATAE
1)
T A3 2= (I— E) 12
H 3T A=Al — o
LHTX].LL U= .."4.|-_+ ;4.“_ |:_|!r— E::l ﬁ

()=l 6
LI X 6
. 'ﬁlli 6
. 'ﬁ‘u
(2)
ARAR AFHN = Blxr + B2x(1-0)
( ) m Bl : 3
(YTM)
m B2 : 3
; (YTM)
L
, 5%
. B,)= B, (-3)x1+ Bi(—:)X2+Bi(—l)x3
- Bi(-3) : 3
- Bi(-2) : 2
- Bi(-1) :
10

2.5%, 10

2.0%

80%

3

AA-(3



10.

)
1.5%

() ‘()

11.

)

)

0.2%

2,000

1.0%,



1)

50%

)

@) ‘@

(4)

12.

1)
)

, 1 10

0.2% 2,000
x 12 x Min{
100%

+ 1.5%

12

, 10}



1)

() ‘(1)

©)

1%

1)

)

(1)

2) '@y

, 99

100
100

4-14

90%



